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BIOLOGY

I GENERAL INSTRUCTIONS

Examinee is directedito read carefully the following
oo Anstructions
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. Examinee must write his/her Roll Number in the

specified box on the top left hand comer.of this page.
Answers_are required to be marked only on the
Computerised O.M.R. Answer sheet which.1s belng
provided to ‘the examinee,

. Besldes filing'in the Roll Number, the examinee has

to put his/her signature on the Answer-Sheat and also
fill other required details like Name, Rocll Number,
Question Booklet code, etc. as indicated on the OMRA
Answer Shest. If these details are not filled in by the
examinee, his/her Answer Shest will not be evaluated.

. For each question, there are four alternative answers,
out of which only one is correct. Examinee must darken *
the circle of correct option In the Answer Sheet by

Black Ball Pen only.

. There are 24 (20+4) pages in this Question-Booklet

Including. 1 page for General Instructions and four
blank pages for Rbugh Work in the last. In case an
examinea receives an incomplete or defective
Question Booklet, he/she should make a request to
the Room invigilator to change the same within 10
minutes of start of the exam.

This Question Booklat contains 50 questions from
following subject :

{1) Biology * Q.Nos. 1-50

. Each question carries 1 mark and % mark will be

deducted for each wrong answaer.

. Possession and use of electronic devices such as

Calculator, Cellular Phone, Digital Diary, Log Table,
Pager, etc., are resiricted during the examination,

. Any leaf from the Question Booklet should not be

detached. After the Examination, Question-Booklet
and Answer-Sheel must be handed over to the mooa_
Invigflator.

During examination the examinee will not be allowed
to leave the examination hall till the END of the
Examination.
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1. rDNA is produced by joining
A) one mRNA with a DNA segment
B) -one mRNA with plasmid DNA
C) two RNA molecules
D) one mRNA with a polypeptide

2. Plasmidis a
A) extra chromosomal, self replicating,
double stranded, linear DNA of
bacteria
B) chromosomal, self replicating
double stranded, circular DNA of
bacteria :
C) extra nuclear, self replicating,
double stranded; circular DNA of
+ bacteria
D) nuclear, self replicating, double
stranded, circular DNA of bacteria

3. Find out correct statement about Bt toxin

A) Bttoxin exists as an active compound
in the Bacillus

B) Bttoxin is produced by cotton plant
to kill pest

C) The activated toxin' enters into
ovaries of the pest and the pest
killed :

D) The inactivated prototoxin gets
converted into active form in the
insect gut and kills the insect

1. R Sire? ¥ rDNA e gran @ 7
A) TF mRNA % Hr TF DNA aniz
B) &% mRNA & @ =iers DNA -
C) & RNA Hroiages
D) T mRNA & HIY T IieieRe

2. TS Uh
A) 3 BT, T R, g
weE, ST F1 taw DNA
B) WIS, T AR, g1 &S,
SIS &l M DNA
C) 3tftrp —gfaaay, W Uwssien, g
wIeE, SATFINET S e DNA

D) =affera, wd Meemnfen, T Fise.
SEATET & TR DNA

3. Bt 2R & famm & 9t a4

A) Bt 2 fmmefier 9ifes & wa & Tm
He  war g

B) Bt 2Tfeem wad % qiul g el
T % forg Senfa foman wimen 2

C) iz % siery # frarsfiet <o 3w
AT & A Fe AR A1 8

D) TR Maeiam franfie 2T

% w98 wem FHR F N § W
AT &
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4. Elution means

A) cutting and mx:.mnzo_._ of Dz..p
bands from the agarose gel

B) separation of DNA fragments on
agarose gel
C) making the DNA fragments visible
when exposed to UV light
' D) isolating a desired gene from DNA
of an organism ’

5. One of the following supports declining

phase of a population
A) Mortality > natality
B) Natality > mortality
C) Mortality = natality _
D) Natality — mortality =0

6. The restriction site recognized by

enzyme EcoRl is
A) CCGGGC
B) CTGCAC
C) GAATTC
D) AAGCTT

7. Which one of the following is not

correctly matched ?
A) Dengue
B) Malaria
C) Amoebiasis Houseflies

Aedes mosquito

Female Anopheles

D) Ringworm  Droplets

_a___ga%___.

4. HieH I AaeE ©

A) TG S @ DNA 378 w1 Frean @l
Fredur e

muﬂaﬂmwmwﬂﬁﬁﬁgﬁmwmﬁmmw
e

ov:<mﬂ§4*az>w:wwmaaumﬂ
G

D) sfiT =1 DNA 30 T gifsa s =
T T

5. F=fafga ¥ @ v el & fioae i svaeen

=1 gl F § |

A) TR > SIS

B) SFHET > Todl -
C) ogat = S S

D) SR - =0

'6. UsEH EcoR| 310 Ye=IH1 THIT Witey URe §

A) CCGGGC
B) CTGCAC
C) GAATTC
D) AAGCTT

7. ¥ @ forrem ware wd i @ 7

A) 37 T T
B) waifn e s
c) siufeftm  #fFEaf

D) TE LGl

——
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8. Which of the following enzymes is not
produced by E.coli during lactose
catabolism 7

A) p-galactosidase

B) Galactoside transacetylase
C) Carbonic anhydrase

D) Lactose permease

9. According to HGP, the longest gene
consists of

A) 3, 164, 7 million base pairs
B) 3000 base pairs

C) 2968 base pairs

D) 2.4 million base pairs

10..In Mung bean, resistance to:yellow
mosaic virus and powdery mildew were
“induced and developed by

A) Mutation breeding
B) Hybridization
C) Polyploidy breeding

D) mmooa?:msﬁ. DNA technology
method

11. Which of the following is not a sexually
transmitted disease ?

A) Acquired immune deficiency

8. fr=r 3§ ¥ H7 u USEH 1 T §. Fell &
0 A IR & G e R
TR ?

A) B- feERiftEd

B) freede eddasas
C) FEFF TEReH

D) T THH

9. HGP ¥ @R ded w3 SR & 38 WS
: T 2
A) 3, 164, 7 e
B) 3000
C) 2968
D) 2.4 ffeas

10. Hr e, i s aw it areet fiesy,
F wfelg = 0 i@ i
fersrfira fopmm e 2 |

A) ScafEd o

B) TS

C) uichiegdt Yo

D) 9 Gawh SIGIY et Rl

fE s s e

syndrome A) ﬂﬁﬂmwﬂm FepfRrgel frgm
B) Trichomiasis B) g
C) Syphilis C) fafthfera
D) Tetanus D) 2@
c | ﬁ Page No. mL 5CEB

Visit CollegeDekho


https://www.collegedekho.com/?utm_source=resource&utm_medium=footer&utm_campaign=hyperlink

12. Inthe womb of the mother the first heart 12.
sound of the foetus can be heard by
Stethoscope at

A) First month of pregnancy
B) Third month of pregnancy
C) Fifth month of pregnancy

D) Sixth month of pregnancy

13. Read the statements and identify the
right option.

Statement!: Mild foetal ejection

reflex is induced by
placenta.

Statement Il: Foetal ejection reflex
triggers the release of
oxytocin from the
ovary.

A) Statement | and Il are correct
B) Statement!and Il are incorrect

C) Statement | is correct and Il is
incorrect .

D) Statement | is incorrect and 1l is

correct
h_unuc No. 3
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14, Identify the incorrect statement

pertaining to contraceptives from the
following.

A) Most widelyaccepted methods of
contraception in India is Intra
uterine devices

B) Surgical intervention blocks
gamete transport and thereby
prevent conception

C) Pills inhibit:ovulation and
implantation as well as alter the
quality of cervical' mucus and
retard the entry of sperms

D) 1UDs are useful only before the
coitus

15. The regression co-efficient for
frugivorous birds in tropical forests of
different continents is

A) 0.1 :
B) 1.5
C):1.15

D) 1.75

-16. Which of the following is not an example
for degenerate codon ?

A) Leucine
B) Alanine
C) Tryptophan
D) Glycine

14, Fafafea # & mifes g6 99 ot sm
T g ?

A) TR TTIRIETET SUHT0 YRE 3
mifFE F O W =T w9 9
YT T ®

B) uftaea oo mianw O ¥ g
yreAffeheaT SEAET aeE i &

C) "ferat fisieasy 3t smiawr ¥ wmy-
QY TN a3 s i o S
e Sl & S YRR o A A

D) IUD weam® & q& € I aran &

15. fafta werdl & Iwmsiestiy srel 3§ wies
gt & ferg witem o 3

A) 0.1
B) 1.5
C) 1.15
D) 1.75"

16. T8 & #7141 ufva FEm ¥ R sem
TR

A) A
B) TerTE
C) Rvwm
D) wemsRr
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17. Which of the following is not a
characteristic of Drosophila
melanogaster ?

A) They are dioecious flies

B) ._._._m.nmzmm studied by Morgan
found on different chromosomes

C) They show many types of heredity
variations

D) They complete their life cycle in

about two weeks

18. Read the statements and identify the
right option :

-Statement|: Due to nozzzmam_ drift
pouched mammals of
Australia survived.

Statement Il: South America joined
North America due to
continental drift,

A) Statementiand Il are correct
B) Statementiand Il are incorrect

C) Statement | is correct and Il is
incorrect

D) Statement | is incorrect and il is
~ correct

TR

17. 59 QR W ZGer At 1

E T € 7
A) 3 sEfem uiRaaf §

B) W 0 aremam foRem S arem

37eT Shrwsiy # g e &

C) d Tgafirnar & wuiad # auriar

Eﬂﬁ&mimwﬁﬂ%ﬂﬂmﬂ

T §

18. el i gt wet fsew T |

wUA| Filreded TR & FR0
FHiegferan & foem gom

AR &9 1 |

AT : 3fEror T, Ter s
& T Filetea W ¥

FRT T |
A) 971 T 1l gt
B) e | a9 I} Tera
C) 9= | & a1 ¢ |l T

D) ==F | TIe7a 991 FYH || g
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9. Identify the mis-matched one. 19. S0FA F Yg=IAT |
A) Australopithecus — hunted with A) TSR — Yot $ERER A T
stone weapons CL| |
B) Homo habilis — brain capacity 650 cc B) B wiiRra — wikiss = amed 650 oc
C) Homo erectus - ate meat C) B Wes — Hig TN 8
D) Modemn man ajose — 10 thousand D) 3Ty WiHa T — T g |1 et
years:back

. Which of the following contains only 20. 7 ¥ e R snedtfar s £ 7
bacterial disease ?
; A) &S, TEEES, A

B) w&ifa, weg, SR

A) Cholera, Typhoid, Pneumonia

B) Malaria, AIDS, Cholera
- C) T5HEE, TYEEAe, SIRe

D) TR, mfen, Riftke

C) Typhoid, Tuberculosis, Influenza

D) Diabetes, Malaria, Syphilis

One of the agricultural practices of 21. i detfi ot o veE afde i

breeding and raising livestock is B FEd 8
called ;
: A) wiffereaT fomm
A) Veterinary science j .
B) T SeTeH
B) Dairy farm management
C) 9R Y&
C) Cross breeding
D) wfor =y

D) Animal husbandry

qmum No. L : 5CEB
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22. Mule is a cross breed obtained by
crossing

A) male horse and female zebra
B) male donkey and female zebra
C) male horse and female donkey

D) male donkey and female horse

23. Identify two rice varieties used to
develop semi dwarf variety of rice

A) IR-8 and Taichung native-1
B) Sonalika and Kalyan Sona
C) Jaya and Ratna

D) Kalyan Sona and Jaya
24. Which one of the statements regarding
asexual reproduction is false ?

A) Offsprings are similar to their
parents

B) Reduction division takes place
during asexual reproduction

C) Offspring do not show variation

D) Zygote formation does not take
place

22, T UF WA & I &, Tail weawr forg o ¥
A) &.ﬂ%ﬁﬂ%ﬂ
B) e 3R e s
C) dier 3K meft
D) wur ik @

23. I F el i Fard Rrd o s aEe
T ® |

A) _m-m@?m%_w_wﬂ
B) dFfers 3t oo |
C) a1 3R &

D) eamr | 3ft s

24. T ¥ HF W1 9199 AAE Yo & RER
Y

A) wafd wrar-fian St e 2

B) eifieh WorH & dRM weRe Rvee
grar & .

C) wafa § =8 weh 7 g

D) 5 e e St

5CEB
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25. Matchthe Oo_:_ﬁ..___ with Column |l and
select the eorrect-option from the choice
below :

Column | Column i

a. Polyembryony i. Commelina

b. Dioecious ii. Grass

c. Cleistogamous - iii. Date palm

d, %oazm_ iv. Citrus
a b c d

A) (iv) (i) (1) (i)

B) () (i) (i) (i)

C) (i) () (iv) (i)

D) (i) (v} (1) (i)

26. Capacity of a plant cell to give rise to
whole plant body is known as

A) Reproduction
B) Budding

C) Totipotency
D) Regeneration

25, T |t || # 991 i §T Hat oo I

wy | w9l
a. diciiafrsrat i. e
b. SERET ii. ==

c. TG jii. @SR
d. e iv. frzm

a biSe d
A) (iv) (i) () o (i)
B) (v) (i) (i) ()
C) (i) (i) “ (iv) (i

D) (i) (iv) () - (i)

26. §RI I 1 WO S Tl WY H T A
% gud € 38 __FEd g

A) TSFEA
B) Jaifea
C) At
D) s

5CEB
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27. A population has more than 50% in post
reproductive: age group; according to
you such population is

A) stable
. B) declining
C) increasing

D) showing biotic potential

28. ADA deficiency can be permanently
cured by

A) Bone marrow transplantation
during infancy

B) Enzyme replacement therapy at
the age of five

C) The infusion of genetically
engineered lymphocytes

D) The introduction of the ADA-
producing gene into the
embryonic stem cells

29. Restriction endonuclease breaks bond
between the

A) Base pairs of DNA molecule

B) Sugar-phosphate backbone of
nucleic acid

C) Exons and introns in cistron

D) N-glycosidic bond between sugar
and base

D A

27. T AT & 50% TRNE § S IS
TG T AT % #; HTH AR 9 TR
i Tt B
A) feerx
B) JenaTet
C) gt
D) S awan w1 feEmarh

28. ADA ! =[7al Sl 35 TR e ¥ §

3 T s wewaT @ |
A) SE T TS & N ¥ gR

B) ui= Wit I 39 § Tremen i
e g

C) aTigdfim v # $eiifr R
T ATES

D) ADA- IcUTeT S I U1 ®1
HITRIS & TR wF

29. Yideg GEREHITS % o9 TtF
AsME |

A) DNA 370 3 a7mem S

B) =IfFe tfire it Hfifi-wivke g
EEdl

C) o ¥t o gl
D) =i qut 9| # w-diafET sum
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~ 30. Select the wrong statement.

A) Our present day crop plants are
entirely different from their wild

B) Almost all our present day crops
are the result of selections carried
out by the prehistoric human beings

C) Seeds and plant samples of only
genetically superior and cultivated
species are introduced from one
country to another

D) Genetic diversity.of our crop plants
‘must be conserved

31. Zoospore is a
A) haploid non flagellated spores
B) haploid flagellated male mm_rmﬁmm
C) haploid female gamete

D) haploid flagellated spore

32. The list of agents of pollination and the
technical words ‘used to describe the
pollination are given below. ldentify the
correct pair..

A) Malacophilly. Pollination by snails
B) Entomophilly Pollination by birds
C) Omithophilly Pollination by winds

D) Anemophilly Pollination ctm_._,im_m

30. T | T HuE ghT |
A) TRt T At & wow & O I
STeft gafstt & gliate e §
B) @ wft ¥R Tdum R & wad

WTcETIReh IS ERT St TR S
gfom &

C) Faa ANTR §7 F 353 3R welt
ST SeTfeat & ofie o MY ¥ ww
T TR AW TR 3w A IR w0
ST 3

D) THR wEe el it ngafies R
! wfdra e s =iRe

31. 9 S (SeIR) @6
A) ST HITETE ST
B) ST HRTTEIT 71 TR
C) TR HIT R
D) mfir e iy

32. o 3 Wiy an v 6 avh Feree
qites weal & et & = R | w7 | 9
ﬂ,_ﬂm,_mf

A) Herafot v
B) wmifteelt  waft g
C) sffenfhelt  STg wom
D) whiifeeh s
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33. Which of the statements is correct ?

A) cleistogamous flowers always
exhibits autogamy

B) chasmogamous flowers always

- exhibit geitonogamy

C) cleistogamous flowers exhibit both
autogamy and geitonogamy

D) chasmogamous flowers never
exhibit autogamy

34. One of the ex sifu construction methods
for endangered species is

A) Wild life sanctuaries

B) Biosphere reserves

-

C) Cryopreservation

D) National park

35. IUCN stands for

A) International Union for Nature and
Natural Resources

B) International Union for
Conservation of Nature and
Natural Resources

C) International Union for
Conservation of Natural
Resources

D) Intemnational Union for
Conservation of Nature

L

33, T ¥ S o 9Faed i g ¢
A) FARITHE G Wal T Wil S
GRS
B) 3wt wormht wer HRrE = i

C) FRfETIg G UaT Tamiar qu
Herrh i <wia &

D) w=ie vt st oft s S
& g

34, qeasm Wit % g ex situ Frain wefa @
A) TS AR

Emmﬂ_.mmﬂ.ﬂm

ov.,ﬂﬁwﬂmﬂ
D) T uH
35. IUCN &1 Hawie @ -

A) STHITS AT BT AT e A
firda

B) ST AT B ey 316 T
atie =gt Ry

C) eWiTme . B FHoav A6
ATy e

D) SeEHE AT R FaTH A%
=

O
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36. Select the correct statement.

A) Acetobacter aciti produce citric
acid

B) Saccharomyces cerevisiae is used
as clot buster

C) Penicillium notatum restricts the
growth of staphylococci

'D) Methenogens are found in aerobic
conditions

37. Read the Statements and identify the
right option.

Statement|: Human liverfluke
depends on two .
intermediate hosts they-
are snail and fish.

Statement Il : The life cycle of
. Endoparasites are very
simple because of their
extreme specialization.

A) Statement!and!l are correct
B) Statement | and Il are incorrect

C) Statement | isicorrectand il is
incorrect

D) Statement | is incorrect and Il is
correct

36. &t A S A |

A) TR TEid e vftre = awme

e

B) wERmTsaY iR &1 s awm
62 % ¥ 7 o o @

C) Wififerm T S 9 9fk
1 e F

D) HeRSRT Tlifers gtera W 9T SR #

37. ®9 @i T8 o TE e = |

FO | WA T AR A T de
IR Hoe e W iR @ E |

HUA Il : I T fasiegan & SR T

RN & e 9% wga
AL

A) S | 7o || w&t
B) %99 | 99T [l T
C) weA | adfi, || fieta

D) %9+ | e, lladt

Q
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38. In the DNA molecule

A) the _u_.a_uo&n.: of adenine in relation

to thymine varies with the organism

B) there are two strands which run
antiparallel onein 5' — 3 direction

and other in 3 — &' direction

C) the total amount of purine
nucleotides and pyrimidine

nuclectides is not always equal

D) there are two strands which run

- parallel in the 5 — 3 direction
39. Which one of the following is wrongly
matched ?

A) Transcription —Writing information
from DNA to tRNA

B) Translation — Using information in

mRNA to make protein

C) Repressor protein — Binds to

operator to stop enzyme synthesis

D) Operon - Structural genes,

~ operator and regulator

38. DNA a1 &

A) 89 F deg § o o oo a &
1Y EEEl Wl §

B) A frai § & 6 -3 H R & 3k
3 3 — 5 i e Fa s

C) gt fRrieEsy o wediem
R i Fo A FA GHH
7wl

D) A i €0t 5 —» & Rwn & wAEIR
e B
30, FHARTEANA R 7

A) e - DNAR tRNA T gt =1
Tere

B) a7a@ — mRANA & gaadi =t 3w
FTH MH I

C) SHhal SIEH —~USEH HYeysv i s
% T et it am

D) A — SteATens S, et o
s

O
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40. Selectthe incorrect statement.

A) Hybrid seeds must be produced
every year to obtain maximum
advantages of heterosis

B) Heterosis is lost by inbreeding

C) Apure-line is the progeny of a large
number of heterozygous self
pollinated plants

D) Genetic diversity is being or is
likely 'to be used in the
improvement of domesticated
plants

41. Diversity of which of the following given
groups are maximum ?
A) Fishes
B) Algae
C) Fungi

D) Amphibians

42. The oceanic carbon reservoir constitutes

A) 49% .
B) 71%
C) 50%

D) 79%

40. 38 & T HUF T |

A) TR =1 1w e wR F
o & o det e 1 I fen

ST =RY
B) gY@ wafd W g TR D wr d

C) T Y€ 97 seie{ WU dei
$ T T2 de ) gaw R

D) Srgeifreh ferfereran 2 rerq el % gaw
o IE BN Y e R

a.mﬂ@@i@@ﬂé&mﬁa
A

A) T
_B)
C) Faw

D) W=

42. @ﬂ.ﬂ%m@ﬂﬂiﬁﬁﬂﬁm _
A) 49%
B) 71%
C) 50%

D) 79%

O

.tnum No. ‘__qq 5CEB

Visit CollegeDekho


https://www.collegedekho.com/?utm_source=resource&utm_medium=footer&utm_campaign=hyperlink

43. More recombinants types are formed
when
A) the genes are located very near to
another on chromosome
B) the genes located far away from
one another on chromosome
C) the crossing over is very less

D) the genes are located only on
Y-chromosome .

44. |dentify the correct combination
msoiim the blood group with their
respective antigens (sugar), antibody
genotype and special character.

‘Blood Antigen Antibady Genotype Special

Group present/ Character
Sugar
A) A B b A1B  Most
common
type
B) B A a IBi®  Found only

in India

'C) AB AorB  none IAB Co-

dominance
D) O Neither Botha 1219 Universal
AnorB andb ’

donor

TR AT

43. At TN THR 590 § 5
A) S SistE # T TR ¥ wie R §
B) %ﬂ.ﬁumﬂﬁ@ﬂ@mm_
C) ﬂ@:%ﬂmﬂ&ﬂm
D) S Y-srsim 3 felre gar @

44, T TG W 3T woRE R, Wi
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ey G Y veH A |
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oy e/ e afe
A A B u1 1A B st
Bl
TR
B) B A a IB1B  ¥Fae wmm
 frertamen
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45, identify the mis-matched one.
A) CUU - Leucine
B) GGU - Glycine
C) GCU - Alanine

D) GAA — Valine

46. Match the following :

Column [ Column Il
a. Gause p. Resource
ipartitioning
b. Connell q. Exclusion
- principle
¢. Mac Arthur. r. Competitive

release

d. Verhaust-Pearl s. Logistic growth
curve
A) a-q,b-p,c-s,d-r

B) a-r, b-p, c-s,d-q
C) a-q,b-r,c-p,d-s
D) a-r,b-s, c-q, d-p

47. The Hardy-Weinberg principle explains
that the speciation is due to

A) Morphological changes
B) Chromosomal changes
C) Gene frequency changes
D) Acquired characters

45, 7 ¥ WA G |
A) CUU - Leucine
B) GGU - Glycine
C) GCU - Alanine
D) GAA — Valine

46. HEvT T TfEy
@l
a. T3y
b. FF
c. B e
d. etew e
A) a-q,b-p, c-s, d-r
B) a-r,b-p,c-s,d-q
C) a-q, b-r,c-p, d-s

D) a-r, b-s,c-q,d-p

Visit CollegeDekho

st |l
p. HETE faTeH
q. g g
r. foeqdi fef

47, BT -t frgra swavan & % Svdiem H

9978 8

A) EUTHS Heed

]
o
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48. Multiple alleles are characterized by

A) more than two alternate forms of
genes found at different loci

B) more than two alternate forms of
genes found on same loci

C) one gene occurs in two
chromosomes

D) none of these
49. Which of the following is a mis-matching
pair of the disease and medicine ?
A) Emphysema — |-antitrypsin
B) Cancer - Alpha interferon
C) Blood clot — Streptokinase

D) AIDS - Penicillin

50. Identify the right pair of the extinct animal
with their country.

Animal - Country
A) Dodo Russia
B) Thylacine Australia
_Q Quagga Mauritius

D) Stellar Sea Cow Africa

T T

1
i

48. =TTl Ufrel % WA 39 YR S _,
e & _

Bm_.w_ﬂmwm_n_mqﬂﬂnmﬂﬂw@ﬁ@ﬁ,
Fofcs i

mvﬁ%%mﬁ%i%ﬂ._
. !

C) & 7 &t e § yaw Y
D) 3 @ =%

49. FHAHN a1 m aun e =1 e T ?
A) A - | TR
B) WAL — 3T TN
'C) G YT ~ R
D) AIDS - ¥f==f

50. faqer wifty 7o 3% 3 %1 o 2 A
el

wfin i
A) 2= = |
B) urgenfie g fern
C) = Hrifirg

D) Reer W% T a1fireT
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